4. EERR

(1) EFEm% (BT - 1)
®OE 26 27 28 29 30
‘ . [ 8 8 8 8 8
ek RN 1,079 1,079 1,078 1,078 1,078
. _ MR K 229 226 230 238 241
© B iR K 93 93 93 98 98
= - 234 230 231 237 238
_ A~ 1 1 2 3 3
oy e iR B 0 0 0 0 0
AETER AR
(2) {KBE2E [TEGHE]
7. ARBRIE (AT : 1)
EE 26 27 28 29 30
2 M2 R 2, 595 2,100 2,315 2,414 2,527
(AT O W ~2F-4% 5 1) ' ' ' ' '
R 2 518 360 429 450 506
(F% B IR~ % 1 O )
(B TA - EESEMSAENEIVEER Blnsd] (1R >0R 2 fiZk) CHEhE R
A . IRH RS (AT : 1)
O S 26 27 28 29 30
R R 280 271 190 201 178
(i1 O IRp~71% 5 1R§)
(B AHXERERAS (FAHIX) CEREERERS (REHIX) 23 LIRE o5 (UiRR) CFEhE TR
12 A 30 + 31 HIZ 1IRBIZDE 2 izt CHHE
R NED (AT : 1)
O 26 27 28 29 30
i 223 256 217 302 315
(FRIT 9 IR~ 7 1R§)
() HEGEEERTS A RO Rl h] (1 MER%) CIEE R
(3) BRRERME -ABZELV )=y [{TEGEHE] (BT < 1)
4 B 26 27 28 29 30
R MR MR R (PR TR~ 1 OR) 1,386 1,455 1,399 1,313 1, 194
BB M2 (FRi9R~T# 5k 2,115 2,141 2,070 2,275 2,230
R H YR 2 (PR~ 1 O 710 717 670 638 608
() TA - BEAEMSD KR AN T fEERERR
(4) BERRXIEFHR CTEUN)
gOE 26 27 28 29 30
NSRS 39, 626 41,115 40, 117 40, 226 39, 779
SRIERRE L 76, 557 80, 761 76, 713 74, 957 75, 568
TR

106



